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1 Introduction
In RAN1#92 meeting, it is discussed that calibration may be needed and OMA single user can be used for link level calibration [1].
	Agreements:
	Parameters
	mMTC
	URLLC
	eMBB
	Further specified values

	For link level calibration purpose only
	OMA single user whose spectral efficiency is the same as per UE SE in NOMA. AWGN curves can be provided also.

	





In this contribution, we provide the calibration results for OMA cases
2 Evaluation assumption
The evaluation assumptions we used for OMA calibration are based on the agreed LLS evaluation assumption which are shown in Table 1.
Table 1 Evaluation assumptions for OMA calibration
	Parameters
	mMTC
	URLLC
	eMBB

	Carrier Frequency
and Numerology
	700 MHz with SCS = 15 kHz, #OS = 14
	case 1: 4 GHz with SCS = 60 kHz, #OS = 7
case 2: 4 GHz with SCS = 30 kHz, #OS = 4
	4 GHz with SCS = 15 kHz, #OS = 14

	Waveform 
(data part)
	CP-OFDM and DFT-s-OFDM
	CP-OFDM
	CP-OFDM

	
	
	
	

	Channel coding
	NR LDPC

	Allocated bandwidth
	6PRBs
	12PRBs
	12PRBs

	TBS per UE
	[10, 75] bytes
	[10, 75] bytes
	[20, 150] bytes

	
	
	
	

	Target BLER for one transmission
	10%
	0.10%
	10%

	BS antenna configuration
	2 Rx for 700MHz, 4Rx for 4 GHz.

	UE antenna configuration
	1Tx  

	Propagation channel & UE velocity
	TDL-A 30ns and TDL-C 300ns in TR38.901, 3km/h

	Max number of HARQ transmission
	1

	Channel estimation
	Ideal channel estimation and realistic LS channel estimation

	DMRS overhead
	1/7 for #OS 7 and 14, and 1/4 for #OS 4

	MA signature allocation (for data and DMRS)
	Fixed

	Distribution of avg. SNR
	Equal

	
	

	Timing offset
	0

	Frequency error
	0

	Traffic model for link level
	Full buffer



In Fig. 1 ~ 8, the performance results are shown for reference.

LLS results of OMA for calibration
1. mMTC
(1) mMTC, TBS = 10byte, CP-OFDM
 [image: ] [image: ]
(a) TDL-A Equal ICE                                                 (b) TDL-A Equal RCE
[image: ] [image: ]
(c) TDL-C Equal ICE                                              (d) TDL-C Equal RCE
Figure 1 mMTC, TBS=10bytes, CP-OFDM
(2) mMTC, TBS = 75byte, CP-OFDM
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(a) TDL-A Equal ICE                                              (b) TDL-A Equal RCE
[image: ] [image: ]
(c) TDL-C Equal ICE                                             (d) TDL-C Equal RCE
Figure 2 mMTC, TBS=75bytes, CP-OFDM
2. eMBB
(1) eMBB, TBS = 20byte, CP-OFDM
[image: ] [image: ]
(a) TDL-A Equal ICE                                            (b) TDL-A Equal RCE
[image: ] [image: ]
(c) TDL-C Equal ICE                                           (d) TDL-C Equal RCE
Figure 3 eMBB, TBS=20bytes, CP-OFDM
(2) eMBB, TBS = 150byte, CP-OFDM
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(a) TDL-A Equal ICE                                            (b) TDL-A Equal RCE
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(c) TDL-C Equal ICE                                                 (d) TDL-C Equal RCE
Figure 4 eMBB, TBS=150bytes, CP-OFDM
3. URLLC
(1) URLLC, 4GHz with SCS=60kHz, #OS=7, TBS = 10byte, CP-OFDM
[image: ][image: ]
(a) TDL-A Equal ICE                                            (b) TDL-A Equal RCE
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(c) TDL-C Equal ICE                                           (d) TDL-C Equal RCE
Figure 5 URLLC case 1, TBS=10bytes, CP-OFDM
(2) URLLC, 4GHz with SCS=60kHz, #OS=7, TBS = 75byte, CP-OFDM
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(a) TDL-A Equal ICE                                           (b) TDL-A Equal RCE
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(c) TDL-C Equal ICE                                           (d) TDL-C Equal RCE
Figure 6 URLLC case 1, TBS=75bytes, CP-OFDM
(3) URLLC, 4GHz with SCS=30kHz, #OS=4, TBS = 10byte, CP-OFDM
[image: ][image: ]
(a) TDL-A Equal ICE                                           (b) TDL-A Equal RCE
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(c) TDL-C Equal ICE                                           (d) TDL-C Equal RCE
Figure 7 URLLC case 2, TBS=10bytes, CP-OFDM
(4) URLLC, 4GHz with SCS=30kHz, #OS=4, TBS = 75byte, CP-OFDM
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(a) TDL-A Equal ICE                                           (b) TDL-A Equal RCE
[image: ][image: ]
(c) TDL-C Equal ICE                                           (d) TDL-C Equal RCE
Figure 8 URLLC case 2, TBS=75bytes, CP-OFDM
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